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  1K8CBTT 
  II, 2016-17 

SUMMATIVE ASSESSMENT – II, 2016-17 

 / SCIENCE  

X / Class – X  

 3      90 

 Time Allowed : 3 hours     Maximum Marks : 90 

 

 

1. 

2. 

3. 

4. 1 3 

5. 4 6 30-30 

6. 7 18 50-50  

7. 19 24 70-70  

8. 25 33 

 

9. 34 36 

 
General Instructions : 
1. The question paper comprises of two Sections, A and B. You are to attempt both the 

sections. 
2. All questions are compulsory 
3. All questions of Section-A and all questions of Section-B are to be attempted separately. 
4. Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in 

one word or in one sentence 
5. Question numbers 4 to 6 in Sections-A are two marks questions.  These are to be answered 

in about 30 words each. 
6. Question numbers 7 to 18 in Section-A are three marks questions.  These are to be 

answered in about 50 words each 
7. Question numbers 19 to 24 in Section-A are five marks questions.  These are to be 

answered in about 70 words each. 
8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical 

skills.  Each question is a one mark question.  You are to select one most appropriate 
response out of the four provided to you. 

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each 
question is of two marks. 
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  SECTION-A  

 1  

(i) CH3CH2CH2COOH 
(ii) CH3COCH2CH3 

Name the functional group present in the following compounds : 
(i) CH3CH2CH2COOH 
(ii) CH3COCH2CH3 

1 

 2 

 

A bacterial cell is different from cells of other organisms. Name the feature which makes it 
different from others. 

1 

 3 

Ozone layer is considered important for human beings.  Give one reason to justify this 
statement. 

1 

 4 1D 

 

A person suffering from an eye-defect uses lenses of power - 1D to correct the defect. Name 
the defect he is suffering from and the nature of lens to be used to correct it. 

2 

 5 

 

With the increasing human population demand for the resources has also increased at an 
exponential rate. What can be done for management of our natural resources ? 

2 

 6 

There is a need to dispose waste in proper manner.  Justify this statement giving reasons. 

2 

 7 

 

Chlorine reacts with alkanes through a very fast reaction in the presence of sunlight.  What is 
this reaction called ?  Illustrate it by taking an example of methane reacting with chlorine. 

3 

 8  

(i)  

(ii)  

(iii)  

Give the chemical equations for the reaction of ethanoic acid with  
(i) ethanol 
(ii) sodium hydroxide 
(iii) sodium carbonate 

3 

 9 (i) A B
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(ii)  

(iii)  

(i) The diagrams A and B shows molecules of two types of washing substances. Which 
one of these are detergent and soap respectively? 

  
(ii) Give a reason for your choice.  
(iii) State one disadvantage of using detergents. 

 10 

 

Name any three such elements which have seven electrons in their outermost shell. How do 
their  non-metallic character and atomic size change down the group? 

3 

 11 

 

Who studied inheritance of traits in pea plants ? Why did he select the pea plant ? Which trait 
gets expressed in the first generation ? In what ratio, traits with one contrasting character get 
expressed in the second generation ? 

3 

 12 (a) 

(b)  

(a) “Each organism has its own identity”.  Explain. 
(b) What is speciation ? 

3 

 13  

 
(a)  

(b)  

(c)  

Study the diagrams given below and answer the questions that follow.  
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(a) Identify the processes shown above.  
(b) Name the organisms which use the above processes. 
(c) Give one distinguishing feature for both these organisms. 

 14  

Differentiate between unisexual and bisexual flowers giving examples of each. 

3 

 15 X  Y 

(a) 

(b) A, B 20 E,  F  30

(c)  

A variation is seen in the length of X and Y chromosomes in humans. 
(a) Which of the two is shorter in length ? 
(b) A group of species A shares 20 characteristics with species B, species E shares 30 
characteristics with species F.  Which of the two pairs show close relationship 
(c) A fish and a bird were buried in sand.  Fossils of only fish were found. Explain why. 

3 

 16 

(i) (ii)  

(iii)  

Explain the terms related to human eye : 
(i) Power of Accommodation  
(ii) Far point  (iii) Near point 

3 

 17 

A convex lens has to be used to produce a real, inverted and magnified image of a given 
object.  Where should the object be placed with respect to the lens ?  Draw the corresponding 
ray diagram.  Also draw the corresponding ray diagram if a concave mirror were to be used 
in place of the convex lens for producing the same kind of image.  State the formulae relating 
the object and the image distances in the two cases. 

3 

 18 

 

Mineral riches of the earth crust are either extracted or used. For every ton of metal a large 
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amount of slag is discarded which damages the environment. Explain the kind of 
management that we need in this regard. Give any two values attained from this management 
system. 

 19 X ( 11)  Y ( 17) 

 

(a) X Y  

(b)  

(c) X  

(d)  

An element X(atomic no. 11) reacts with an element Y (atomic no. 17) to form a monovalent 
halide. 
(a) Identify the position of X and Y in group and period in the periodic table. 
(b) State whether these elements are metal or non-metal ? 
(c) Describe nature of oxide of element X. 
(d) Draw electron dot structure of the halide. 

5 

 20  DNA, 

 

“Chromosome is the physical basis of heredity”. Explain by giving five points including 
genes, DNA, sexual reproduction. 

5 

 21  

(a)  

(b)  

(c)  

Draw the diagram of a female reproductive system and label the part which : 
(a) Produces egg in female germ cells 
(b) part where the zygote is implanted 
(c) Path for entry of sperms 

5 

 22 (a)  

(b) 

 2.42  1.33 

 

  
(c) 3108 ms1

(a) Define refraction of light. 
(b) A ray of light is incident on the interface separating diamond and water.  Given that 
the refractive index of diamond and water with respect to air are 2.42 and 1.33 respectively.  
Complete the diagram by showing refracted ray and mark angles of incidence and refraction. 
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(c) Calculate speed of light in water. (given that velocity of light in air  is 3108 

ms1
) 

 23 (a) 

 

(b) 

 

(a) Demonstrate an activity with a well labelled diagram to prove that white light is made 
up of seven colours. 
(b) Which colour of light bends least and which one the most whilepassing out from the 
prism. Also state the reason for the same. 

5 

 24 

Name two spherical mirrors.  Define them.  Write any three points of difference between 
them. 

5 

   / SECTION - B  

 25 

 

(a)  (b)  

(c)     (d)  

The solvent is used to dissolve oil before adding sodium hydroxide in the preparation of 
which soap is : 
(a) Carbon tetrachloride  (b) Hydrochloric acid 
(c) Ethanol   (d) Sodium chloride 

1 

 26  

(a) 

(b)  

(c) 

(d)   

Saponification reaction is : 
(a) Alkaline decomposition of fats.    
(b) Alkaline hydrolysis of fats. 
(c) Acidic decomposition of fats.   
(d) Acidic hydrolysis of fats. 

1 

 27 

 

(A)  

(B)   
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(C)  

(D)  

 

(a) A (b) B   (c) C   (d) D  
Four students recorded the following observations while adding soap in distilled water and 
hand pump water.  
(A) Soaps form lather easily in distilled water as well as in hand pump  water.  
  
(B) Soaps form lather easily in hand pump water.   
(C) Soaps form lather easily in distilled water.  
(D) Soaps don’t form lather in distilled water.  
The correct observation could be : 
(a) A (b) B   (c) C   (d) D 

 28  

 
(a) A (b) B (c) C (d) D 
Which of the following diagrams depicts correctly the image formation of a distant object ? 
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(a) A (b) B (c) C (d) D 

 29 

(a) (A)    (b) (B) 
(c) (C)    (d) (D) 
Parallel rays from a distant tree incident on a convex lens form an image on the screen.  The 
diagram correctly showing the image of the tree is : 
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(a) (A)    (b) (B) 
(c) (C)    (d) (D) 

 30  

 
(a) 40    (b) 50  

(c) 60    (d) 70 
 
 
In the given figure, the angle of incidence is : 

 
(a) 40    (b) 50  

(c) 60    (d) 70 

1 

 31 

 

(A)  

(B)  30 

(C)  

(D)  

 

(a) (A)    (b) (B) 
(c) (C)    (d) (D)   
While doing the experiment of tracing the path of ray of light through a triangular glass prism 
a student takes precautions : 
(A) position of prism should be fixed while doing experiment. 
(B) angle of incidence should not be less than 30.
(C) two pins taken as object should be placed on incident ray at proper  distance 
from each other.  
(D) locate the position of image keeping both eyes open.  
One of the precautions is not appropriate. It is :  
(a) (A)    (b) (B) 
(c) (C)    (d) (D) 
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 32 

(a)      (b)  

(c)     (d)  

Birds have their body modified for flight. One such adaptation is the presence of wings. 
Wings of which organism is analogous to that of a pigeon’s wings ? 
(a) Eagle     (b) Butterfly 
(c) Sparrow    (d) Dove 

1 

 33  A  

 
(a)     (b)  

(c)     (d)  

Study the figure and identify the part marked as A. 

 
(a) Plumule   (b) Cotyledons 
(c) Radicle   (d) Seed 

1 

 34 

CO2 

 

Acetic acid is a colourless liquid without any odour.  It is miscible in water in all proportions.  
It turns red litmus to blue and evolves CO2 gas when added to sodium hydorgen carbonate 
solution.  Identify the incorrect statement(s) in the above description given about the 
properties of acetic acid making necessary corrections accordingly. 

2 

 35 (a) (b) 

 

Compare the Asexual reproduction in Amoeba and Yeast in respect of (a) type of divisions 
and (b) Number of cells produced in division. 

2 

 36 F1
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In the figure given  an object has been placed at F1.  After refraction through convex lens the 

image of the object will be formed. Write its nature, position and relative size of the image 
formed in this case. 

 
    

  -o0o0o0o- 
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